* addition de fractions ( fraction appropriée ) (
a & % fraction impropre )

Nom: Date: Note:
4 2
—+ = =
5 5
4 5
-+ = =
6 8
4 2
-+ = =
7 9
7 1
-+ = =
9 9
5 7
4=
4 3
7 5
-+ = =
6 3
5 1
4+ =
8 7
1 1
4+ - =
5 4
2 4
— 4+ =
5 5
4 5
-+ =
8 8
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addition de fractions ( fraction appropriée ) (
fraction impropre )

Nom

4 2 6 1
—+Z="=1=
5 5 5 5
4 5 3] 7
—+ = =1—
6 8 24 24
4 2 50

—4+ ="

7 9 63

7 1 8

-4 ==

9 9 9

5 7 43 7
T+l = =3
4 3 12 12
T,2_17_55
6 3 6 6
5 1 43

4+ ==

8 7 56

I 1 9
4=

5 4 20

2 4 6 1
Tt _=_=1=
5 5 5 5
4 5 9 1
—+=2=1=
8 8 8 8

Date: Note:
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